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= The more polarised they are, the more likely they are to thermally decompose as the bondsin the ,
carbonate and nitrate ions become weaker
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The graph shows that both the first and second ionisation energies decrease going down the table

The firstionisation energy is the energy needed to remove the first outer electron of anatom

The second ionisation energy is the energy needed to remove the second outer electron of an atom
The graph above shows that going down the group, it becomes easier to remove the outer two
electrons of the metals

Though the nuclear charge on the nucleus increases going down the group (because there are more
protons), factors such as anincreased shielding effect and alarger distance between the outermost
electrons and the nucleus outweigh the attraction of the higher nuclear charge
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= Asaresult of this, the elements become more reactive going down the group as it gets easier for the
atomstolose two electrons and become 2+ ions
= Thistrendis shown by looking at the reactions of the Group 2 metals:
= With dilute hydrochloric acid: bubbles of hydrogen gas are given off much fasterindicating that
the reactions become more vigorous
= With oxygen: the metals get more reactive with oxygen down the group (Bais so reactive, that it
must be stored in oil to prevent it from reacting with oxygenin air)

Physical trends

= Going down the group, the elements become larger as the outer two electrons occupy a new principal
quantum shell whichis further away from the nucleus
The atomic radius of the Group 2 elements
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The atomic radius of the Group 2 elements increases going down the group due to the addition of an
extra principal quantum shell

Graph of the atomic radius descending Group 2
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